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^ "ST^ RnRrlRsId "f^

ii -f^ p

(A) ifeTM

(B) fM^ aTTfiT.

3TO war

(C) ^ ̂ Tfef

(D) 3fRi"

^ ^

52. ^ ̂ ̂ ferr TOW

viQT^<a 1^iWT f ?

(A) 2 (B) 4

(C) 6 (D) 8

53. ^ ^

^Atsicb "f :

(A) 3i(rit)S

(B) Tf^

(C) dKpLh'cbd

(D) pKrlwi^

54. TRFOT^ "4* FRTf^ W ̂

■"R "f^ ?

(A) 3WTO

(B) ^ WT^

(C)

(D) ^

(5)S/33/2022/A

51. M.N. Srinivas used the term
'Sanskritization' in which of his
following books ?

(A) India's Villages

(B) Religion and Society Among the
Coorgs of South India

(C) Social Change in Modem India

(D) The Cohesive Role of

Sanskritization and Other Essays

52. How many types of social action have

been categorized by Max Weber ?

(A) 2 (B) 4

(C) 6 (D) 8

53. The author of the book "Studies in

Ethnomethodology" is :

(A) Alfred Schtitz

(B) Robert K. Merton

(C) Harold Garfmkel

(D) Clifford Geertz

54. Who has emphasized on the study of
social facts in sociology ?

(A) Auguste Comte

(B) Karl Marx

(C) Emile Durkheim

(D) Max Weber

P.T.O.
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(A) ir^aM frit^

(B) fir^ "qi^

(C) TT-m

(D) Anrnl^^l

56. "tot •^* ^ TOft̂ -^ ^

9ll^"l o(lrrl'=ti "§■, "W 3^ 'H^^'ll ^

"qr "qfer ^371 sfk ^ ^ ̂

37^ TOf ■^* 1" "^T^

t ?

(A) ITOTt ^

(3)" "STt.-q:??. ^

(C) k,H. ̂ ,*1.

(D) "OTT. ^n'Mt

57. '1^ fqr^ftfrpfeNt 37fq7 1^

^?7T^ ^ f :

(A) ^<Tcr'S

(B)

(C) ferqi^

(D) 37^^^

(5)S/33/2022/A

55. -Who is the authof of the book "Structure

and Function in Primitive Society" ?

(A) Anthony Giddens

(B) Michel Foucault

(C) A.R. Radcliffe Brown

(D) B. Malinowski

56. "Caste in India is a Brahmanic ehild of

the Indo-Aryan culture cradled in the

land of Gangas and the Yamuna and

thence transferred to other parts of the

country." Who said it ?

(A) Irawati Karve

(B) G.S. Ghurye

(C) M.N. Srinivas

(D) M.K. Gandhi

57. The author of book 'The Phenomenology

of the Social World* is :

(A) Harold Garfinkel

(B) Erving Gof&nan

(C) Clifford Geertz

(D) Alfred Schtutz



58. 3Tq^ ^

<iHI^IH (3#PTOt;c^ "^WFT)

"5^^^ "t ?

(A) TTTf^, i{^ "trn:^ ^nl^Ndl

(B)

(C) ̂  ^

(D) fdicRH 1^37^

59. 371^^ ^

^  "HFTT t" ?

(A) fw =fh^

(B) twTRi

■  (C)

■  (D) -q^

60. 3TC HW=h

im^ ̂  t ?

(A) -qq.^. qf^

(B) TT^TI^R^

(C) "^.371^.

(D) #.T3^. ̂

61. Wf TTT q'jj^ui

37^1^'H'l 37f^chcrH chet^ldl "I" :

(A) mm mi\)

(B) STSqqq

(C) 3rfM^tqirHct> 3T¥=qqq

(D)

(5)S/33/2022/A ;

58. In which book Erving Gofi&nan outlined

his dramaturgical approach ? .

(A) Mind, Self and Society

(B) Asylums

(C) The Presentation of Self in

■  Everyday Life

(D) Interaction Ritual

59. Who has considered networks as a basic

unit of modem society ?

(A) Pierre Bourdieu

(B) Jurgen Habermas

(C) Manuel Castells

(D) Michel Foucault.

60. Who authored the book "Annihilation of

Caste" ?

(A) M.K. Gandlii

(B) Radha Kamal Mukherjee

(C) B.R. Ambedkar

(D) ,G.S. Ghurye

61. A study design involving collection of

data at one pMcular point of time is

known as :

(A) Cohort study

(B) Trend study

(C) Cross-sectional study

(D) Longitudinal study

P.T.O.



62. RnrdHsid ^ alter ^

41^Jiruidl^ ten ̂

wnr t ?

(A)

(B) te=™

(C)

(D) •^* "^ nflf

63. ^®nT Rtitrchi t", ""^ 3TOT

amtet ^ ̂  "RTTrar ten sn i

^ ̂ ■^* fan, te
"dnnn ^ k'

w" ?

(A) temte
(B) i ̂

(C) tMten n:nr. o^

(D) V^. iJ.u^<^HH

64. '^rtedW kter IkH'
tnte teat t ?

(A) afk ^
(B) nt.^. te

(C) ^.n;. kte

(D) <iM^4d k* ^ ^

65. krwEff ^ nft

ch^eiial "t" :

(A) ^^nrr (B) te^^tenn
(C) tefete (D) "5xTte^

(51S/33/2022/A

62.

63.

64.

65.

Which one of the averages cannot be

manipulated algebraically ?

(A) Mean

(B) Median

(C) Mode

(D) None of the above

Who said these words, "I started research

as an non-participant observer. As I

became accepted into the community, I

found myself becoming almost *a non-

observing participant" ?

(A) B. Malinowski

(B) E. Durkheim

(C) William R Whyte

(D) N. Anderson

Who among the following wrote the
book 'Scientific Social Survey and
Research' ?

(A) Goode and Hatt

(B) P.V. Young

(C) C.A. Moser

(D) None of the above

The ability to repeat the findings of a
research is known as :

(A) Validity (B) Reliability

(C) Serendipity (D) Accountability



66. Pi^PcriRad wrrter
^'Mpklch 3T?2m (^ ̂) ̂ wk

=R^ "^T^ oqf^ gJT 7

(A) i ̂
(B)

(C)

(D) ̂  trmf

67. "f^ TR^R ̂  1%f?? 3TT^
■515^ t, ui^ -q^ ^ «n^

^  t ?
(A) 1%?fq
(B) <i^^V4'iyf fHq#T
(C) ^ m#T
(D) wl«siid

68. ^HNfnfd t :
(A) ■^.#. ^
(B) Av^.
(C) "^1?^
(D) it. itn ̂

69. ^ ̂  i]u||^cb ^err ^ ̂  HNIrHcti
eft "3^ iW A wrfeif ^

^Rft A 1^ 1^RT RRFT ^ wiw t^RTT
-diy.qi ?
(A) ^ ̂  'Q'
(B) -Rqf xjTiT% '(j)'
(C) fe Y
(D) (^2)

70. PiHPdRslcf ^ ^ ?ft%T
"t ?

(A) ?ft%T
(B) '^m ?ft?T
(C) 3Pftw7^ ?ft^
(D) 3r#W?W ?ft^

(5)S/33/2022/A !

66. Who among the following was the first
one to use case study method in social
research ?

(A) E. Durkheim
(B) Frederic Le Play
(C) Herbert Spencer
(D) Karl Marx

67. Which type of sampling method is
ideally suited where there is no
knowledge about population ?
(A) Convenient sampling method
(B) Purposive sampling method
(C) Quota sampling method
(D) Snowball sampling method

68. Sociometry is associaed with :
(A) D.C. McClelland
(B) JX. Moreno
(C) W.K Whyte
(D) P. Geddes

69.

70.

When one variable is qualitative and
another is quantitative, which measure
will be used for finding covariation
between them ?

(A) Yule's 'Q'
(B) Phi coefficient '(j)'
(C) Rank correlation Y.
(D) Chi-square

Among the following which' research
design consists of a 'Control Group' ?
(A) Descriptive research design
(B) Survey research design
(C) Experimental research design
(D) Exploratory research design

P.T.O.
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■^«1TT 1^ ?

(A) 3TfTO ^5Tit

(B)

(C) IW

(D)

72. t^Ytorarf '3tr*t^

YR^', 'Wnx^ RRffcT' -q^* '^KViciKl

■H^rtjiRl * <i(rcrl<2i Ph^l ^ ?

(A) it. il^lPdid (B)

(C) ^ (D) affwf

73. fdHpriRsid i* ^

cT?^ ^ t ?

(A) ^ ̂  WTT

(B) 0.r^di ^<Wdl

(C) ^it^

(D) iii^n ^ ^rmr

{5)S/33/2022/A

71. Who first used the term 'Structure' in

Sociology ?

(A) Auguste Comte

(B) Herbert Spencer

'(C) Emile Durkheim

(D) Max Weber

72. "^0 mentioned the three characteristics

of culture-'ideational culture', 'Sensate

culture' and idealistic culture' ?

(A) P. Sorokin (B) Spengler

(C) Pareto (D) Ogbum

73. Which of the following is not an

essential element of community ?

(A) We feeling

(B) Voluntary membership

(C) Common life

(b) Dependency feeling



^  f . 7

(A) ̂ 4)l^ci< T^'

(B) -^fq^

(C)

(D) fq(rq<I ijt

75. iitlmd oq^ '^* "3^ "38TT qit

^ %, 1^RT^ TOT |[Rr ̂  irq-*

qjt 37^ R^^<kT 3ifqqr

^nsqfeniT ^ ̂  t ?

(A) -qfeR

(B) -qfem

(C)

(D)

76. qft "3?qf% ^ wqfer pH^Id 3757^1

Ri.am yfd4K4i qfbr

f ?

(A) (B)

(C) (D) ̂ <sjTh

77. Bfqjcl ^ "^T^FT f, -^TPTT

^ 1" ̂  fqiWT t ?

(A) A4)I^c!< -q^'

(B)

(C) ̂

(D) fwm

(5)S/33/2022/A -

74. The concept of Social Status is related to

which scholar ?

(A) Maclver and Page

(B) Kingsley Davis

(C) Ralph Linton

(D) Wilbert Moore

75. What is the practice called in kinship in

which material uncle gives more.priority

to nephews and nieces than all other

relatives ?

(A) Avoidance

(B) Joking relationships

(C) Avunculate

(D) Amitate

/

76. Who is tlie exponent of the social theory

of the origin of religion or the theory of

totemism ?

(A) Tylor (B) Max Miiller

(C) Spencer (D) Durkheim

77. Who has given this statement, "We

belong to association not to institution" ?

(A) Maclver and Page

(B) Bogardus

(C) Ward

(D) Pearson

"P.T.O.



78. ^ t, ^ 3Tsf

^  ̂ ̂ write tew ̂

^WldRd t 1"

(A) (B) MK^HHH

(C) (D)

79. wnte wNnTJT WFiter ̂

srteF? ffte ̂  ten ̂  f ?

(A) ̂  lite

(B) "te ̂

(C) ite . "Q^*

(D) ^

80. ^ t, "w^terui ̂  "jiteiT tt^

tewT "Rten t" ?

(A) te

.  (B) tt^i.^. ^

(C) ̂ rte ̂

(D) ?fttera

81. an^ teif ̂  ̂I3?TR, ̂  wnte ten

■qn ar^^wT ter ^

t ?

(A) wtet

(B) writer

(C) te (A) a^[k (B)

(D) "EqjcRT ■^* qi^

lt>}3/33/202?/A 8

78. Who -said that, "Education is formally

concerned with the transmission of the

social heritage to the new generation."

(A) Durkheim (B) Parsons

(C) Remond (D) Gisbert

79. Who is the scholar who considers that

social stratification is functionally

essential ?

(A) Karl Max

(B) Max Weber

(C) Davis and Moore

(D) G.S. Ghurye

80. Wlio said that, "Sanskritization is a two-

way process" ?

(A) Yogendra Singh

(B) S.C. Dubes

(C) Irawati Karve

(D) Dr. Srinivas

81. According to Andre Beteille, the study of

agrarian social structure revolves around

which major issues ?

(A) Technological arrangements

(B) Social arrangements

,(C) Both (A) and (B)

(D) None of the above



82." TM

Wl^' ̂  ?

(A)

(B) ̂  1TH.

,  (C) ^

(D) iflih

83. ^ -OT ^ 1^

^ ̂ %3[ ^ "q?^

^ -nf t ?

(A) 3TRJR

(B)

'(C) ^SR^f^sR ^ ̂TWRT

(D) Rq^feqr ̂  PciNHdl

84. Rlfn ^ Hilsni^

■^1% RR^ ■f ?

(A) TT. STR. ^

.(B) RT^. fw '

(C) T3?T.'q7T. ylRcJl^

(D)

85. RRdk' RRR ■^••"•*""

f*, ,37Tf^chlR=h
WMM ^ ̂  RtRr RRT t I

(A) 600

(C) 400

(5)S/33/2022/A

(B) 500

(D) 300

82. According to whom during the British
period, the Indian villages were little
republics ?

(A) B. Malinowski

(B) Sir Henry S. Maine

(C) D. Dumont

(D) Louis Morgan

83. Which criteria is not identified by Louis
Wirth to determine the degree of
urbanism ?

(A) Size

(B) Density

(C) Homogeneity of population

(D) Heterogeneity of population

84. Who considers caste system as "Steel

frame of Hinduism" ?

(A) A.R. Desai

(B) y. Singh

(C) M.N. Srinivas

(D) Nahdu Ram

85. There are more than groups in

Indian society officially designated as.

Scheduled Tribes.
*

(A) 600 (B) 500

(C) 400 (D) 300.



86. I ̂  ̂  IT ^ "^TTST

■^8^1 'tl"^ "f^ 1TTT ^ ̂  ^tR
^  cfiinsiy. :

(a) T3?i^

WWT^

(b) ^Jle^ (2) ^.T35. *=11^

^11

(  )

(1) 1T.STR. ^

(c) (3)

87. f^RT^ «iMK ^ Aqcq cn^
^ ̂ itRI ^ "^IT ^tftRirfBcT

^ ̂  3RTRT I^W sfk

T# t ?

(A) mi (B) R.^. "fe ■
(C) ^ (D) ^ ̂

(5)S/33/2022/A 10

86. Match List I with List II and select tlie
\

correct answer using the codes given

below the lists :

List I List II

(Book) (Author)

(a) Patronage and (1) A.R. Desai

Exploitation

(b) Peasant Struggles (2) D.N. Dhanagare

in India

(c) Peasant (3) Rajendra

Movements in Prasad

India

(d) T4m<ui ^^4 (4) ^ (d) Champaran and(4) Jan Breman

M^kHI "nf^ Mahatma Gandhi

Codes :

(a) (b) (c) id) (a) (b) (c) (d)

(A) 4 3 2 1 (A) 4 3 2 1

(B) 3 1 2 4 (B) 3 1 2 4

(C) 4 1 2 3 (C) 4 1 2 3

(D) 2 1 4 3 P) 2 1 4 3

87. According to whom all efforts to show

or discourage make-led urbanization have

failed or been counter productive ?

(A) R.E. Park (B) A.G Frank

(C) Louis Wirth (D) Roger Zetter



88. ^ I ̂  ̂  II ^
OT ^ ̂ ^ ̂

Chirpy. :

■^11
C^^) (arcfmrnrr)

(a) (1) Tnf^

alfr

=<cil^<KT

(b) <^al ^iTTT (2)
cilC^

1^ "MIcT

(c) "g^ ^ (3) f^OTT
37^ gfH "qr

^iFT 3Tq^

^IMlfqcfji ctiHMt

(d) f%qT ^ (4) •H'^^

^ •

(a) (b) (c) (d)

(A) 3 2 1 4

(B) 1 3 4 2

(C) 1 4 3 2

(D) 2 1 4 3

(5)S/33/2022/A 11

88. Match List I with List II and select the

correct answer using the Codes given
below the lists :

List I Lis!t 11
I

(Narration) (Concept)
(a) Collect rents (1) Malik

from tenants,

sub-tenants and

sharecroppers

(b) Working (2) Sharecroppers
peasants having

property interest

in the land

(c) Farming their (3) Kisan

livelihood

primarily from

working on other

land

(d) Cultivating (4) Mazdoor

land for others

on leases without

security
Codes :

(a) (b) (c) (d)

(A) 3 2 1  4

(B) 1 3 4  2

(C) 1 4 3  2

(D) 2 1 4  3

P.T.O.



89. ̂  I ̂  n ̂

cJSTT i^ TfTX q|S ̂  "3^

I  ̂ II

I

(a) 3W (1) "^.1^^. "^iT^

■ (b) ^ aw (2) "^.TT. ^Hl<ir^H

(c) ^ 3W (3) sit. 'iA^Mi

<F\<Q1 'tJl'Hl^'il

■  (d) ^J^(4) HH^i

■qu^ M^HPcricil

89. Match List I with List II and select the

correct answer using the Codes given

below the lists :

List I List II

(Book) (Author)

(a) Decline of the (1) J. H. Kalb

West and Brunner

(b) The Culture (2) P.A. Sorgkin

of Cities

•  (c) A Study of (3) 0. Spengler

Rtiral Society

(d) Society, Culture (4) Mumford

and Personality

w • Codes :

(a) (b) (c) (d) (a) (b) (c) (d)

(A) 3 4 2 1 (A) 3 4 2 1

(B) 3 4, 1 2  . (B) 3 ' . 4 1 2

.(C) 2 1 3 4  ■ (C) 2 1 3 4

(D) 3 1 2 4 (D) 3 I 2 4

O).3/33/2022/A
W_ f . * -AC.
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90. I ̂  ̂  II ^

"f^ TT^ ^ "Hft

chlpsiy, :

^11

(3IT%FT) (^)

(a) ^HKU| (1) 1921

(f^)

90. Match List I with List II and select the

correct answer using the Codes given

below the lists :

List I List II

(Movement) (Year)

(a) Champaran (1) 1921

Movement (Bihar)

(b) (2) 1917--18 (b) Kheda Peasant (2) 1917-18

Sullen Struggle

(c) «iKm(n1 (3) 1918 (c) The Bardoli (3) 1918

Satyagrah "

(d) HIclNit (4) 1920 - (d) Moplah (4) 1920

Rebellion in

fusils Malabar

Codes :

(a) (b) (c) (d) (a) (b) (c) (d)

(A) 2 1 3 4 "  (A) 2 1 3 4

(B) 2 3 4 ■1 (B) 2 3 4 1

(C) 1 2 3 4 (C) 1 2 3 4.

(D) 3 1 2 4  . (D) 3 1 2 4

(5)S/33/2022/A 13 P.T.O.



91. [HHreirkd ^

3Tf^Tf^, 2005 ^ 3R7ffT

t ?

(A) feR

(B) "^ff^s^FT "gnr "FfecT IdchW

(C) OT ^ ̂ fenfc

13^* feFT

(D) "f^Tsft "f^RTRT ^ Rti^nl ^ cfji-ji ^

3F^ STT^

92. ^ ̂ iNHlPdch ^'^Pd

HdiK "^T^ s(ai^i ^ ?

(A) ̂ *=tiVI

(B)

(C) wwff

(D)

93. (I) (2) "SaTTT?, (3) fM^T.

(4) dU<1Pd-qT, (5) ̂ q^^wfw>, ■cI«^T
(6)' I ^ q7FJ5
PihF^i "sfai^vi. :

(A) (1), (2) 3fk (3)

(B) (2), (3) 3Tk (4)

(C) (4), (5) ^ (6)

(D) ^ (1), (2), (3) 3|1t (5)

(5)S/33/2022/A 14

91. Which of the following bodies are

covered under the Right to Information

Act, 2005 ?

(A) Only Government bodies

(B) Bodies constituted by the
Constitution only

(C) Both Government bodies and

Non-governmental organisation
financed by the government

(D) Private bodies not covered by any
law

92. Which type of pure political culture is

not mentioned by Sidney Verba ?

(A} Parochial

(B) Subject

(C) Participant

(D) Non-participant

93. (I) Religion, (2) Customs, (3) Judicial

decisions, (4) Folkways, (5) Legislative,

and (6) Personal experience. Mention the

sources of making laws out of these :

■  (A) Only (1), (2) and (3)

(B) Only (2), (3) and (4)

(C) Only (4), (5) and (6) '

(D) Only (1), (2), (3) and (5)



94. I sfk II ^

CI8IT 1^ nrj; ̂  ̂ nm

'^l "^11

(a) -oqm (1) 1956

a7^^^f^

(b) 7T?f(2) 1971

mm 3Tf?lt^

(c) ^ (3) 2005

hF^qII ^RSiT^

(d) (4) 1856

W :

(a) (b) (c) (d)

(A) I  2 3 4

(B) 4  3 2 1

(C) 3  4 1 2

(D) 2  1 3 4

94. Match List I with List II and select the

correct answer using the Codes given

below the lists :

List I List II

(a) Immoral Traffic (1) 1956

(Prevention)

Act

(b) Medical (2) 1971

Termination of

Pregnancy. Act

(c) Protection of (3) 2005

Women from

Domestic Violence Act

(d) Hindu Widow (4) 1856

Remarriage Act

Codes :

(a) (b) (■c) (d)

(A) 1 2 3 4

(B) 4 3 2 1

(C) 3 4 1 2

(D) 2 1 3 4

(5)S/33/2022/A 15 P.T.O.



95. fHHPdR^d ^ ̂  ^ ̂37^

t ?

(A) ^ 3k

(B)

(C) TTW^

(D) WWWi

96. "IkR ^HNVilWl ̂  "3xR W ̂ ■^* ^
37?37ZH "qf Picctiq Pl<^lcrll "%

^ 3T^ ■^* t ?

(A) "R^."#. ^

(B) ^.T3?ET. ■

(C) 3TTi.-Rt. knf

(D) 3#^

97. 1^ W ■^" 3-^0^,

fern ^8TT ?T^ "Rf^ ^27T

■RFlfei -Wd'ddl ^ ^ PdRlel

^*R6dT ^ ?

(A) 1950 3k 1960 ^

(B) 1970 3k 1980 ^

(C) 1990 3k 2000 ^ ■^*

(D) 2010 3k 2020 ^ ■^*

(5)S/33/2022/A

95. Which of the following is not an area of

policy making by the International

Agencies under, the United Nations ?

(A) International Peace and Security

(B) Disarmament

(C) Religious affairs

(D) Environmental problems

96. Which sociologist, after studying the

villages of North India, concluded tliat

each village is divided into several^
factions ?

(A) S.C. Dube

(B) G.S. Ghurye

(C) I.P. Desai ■

(D) Oscar Lewis

97. In which decades the number of civil
society organizations, especially non-

• govermnental organizations grew in the
areas of poverty alleviation, development
and growth, access to education and
protection of civil liberties in India ?

(A) 1950's and 1960's

(B) 1970's and 1980's

(C) 1990's and 2000's

(D) 2010's and 2020's ■

16



98. 371^."^.

^  -^f fer aro^

aTT^^TR oni-Hl "^qpTT "^if^ ?

(A) (B) "RRffer

(C) airfafe (D)

99. PHHfdRsJd ■^*

ar^' 7K ^ 3RiW tor sqr ?

(A)

(B) "JPR

(C) 17WTT "nf^^t

(D) ^'sRT

100. fHHPdRsId ^

MRcTT ^ t ?

(A) Tk^ allq-cilPicb it^ i

(B) ^ ^ --^ ^
t

(C) <NdlPd ^ t

(D) aT^Ifq^ <NHlPd ^ t

101. RH ^ WWT PHMPelP^sld ^
^  "qFTT "^ncn "i" ?

(A) Tife ^2TT ^

(B) ^ cT^TT ^

(-C) Mq ^8TT

(D) ^siTT "3^

(5)S/33/2022/A

98. According to I.R Desai, Andre Beteille
and Upendra Baxi, which of- the
following aspects should be made the
bases of reservation ?

(A) Religious (B) Cultural

(C) Economic (D) Educational

99. Which of the following used the term

'civil disobedience' for the first time ?

(A) Henry David Thoreau

(B) Gunnar Myrdal

(C) Mahatma Gandhi

(D) Jeremy Bentham

100. Which of the following is not a

characteristic of 'pressure group' ?

(A) They have a formal structure

(B) They influence the decision-making

process

(C) They do direct politics

(D) They do indirect politics

101. Which of the following two tribes have

silent barter system ?

(A) Gond and Toda

(B) Bhil and Ho

(C) Semong and Sakai

(D) .Santhal and Munda

17 P.T.O.



102. ^

t ?

(A) tf^

(B) fTR^

(C) STT^ "tM

(D)

103. rHMPdRdd ^ fer '^ir^PdM'

^ yPdmRd t ?

(A) HKd^>d

(B) ̂

(C)

(D) '^.

104. rs^liei ^cr^<*

^ HKT TFit t I

(A) PdM4iT4i

(B) fer

(C) "te

P) "^IHt

105. ^ ̂HIHlPddi ^ WT

fro t l" ̂  Pch^4il

t ?

(A) ^

P) 1^.^. Tfei

(C) T^^sM

P) ^

(6rS/33/2022/A 18

102. Who has written the book "Alienation

and Freedom : The Factory Worker and

His Industry " ?

(A) Robert Blauner

(B) Herbert Marcuse

(C) Andre Gorz

P) C. Wright Mills

103. Which of the following scholars has

coined the term *Deskilling' ?

(A) Herbert Marcuse

(B) Lemer

(C) Harry Braverman

P) T. Veblen

104. The book 'Understanding Digital

Culture' is written by :

(A) Ogburn and Nimkoff

(B) Vincent Miller

(C) Peter Worsley

(D) Karl Polanyi

105. "Homelessness is the worst form of

social exclusion" is a statement given

by:

(A) Amartya Sen

p) A.G. Frank

(C) Anthony Giddens

(D) Herbert Gans



m

106. ^ ^ ^

^  W "TO srr, :

(A) -sMto "fjfNK ^ ̂

"^ar^ FsH

2?T 1

(B) eft^T ^dPHch Vi^ fei

^ "FH STT I

(C) ^ -HM^ldl 1%^

^ <M'l1fd yH45Ql ctifdi Z{\ I

(D)

107. 1977)

^ 3?af t ;

(A) -tF^fe^i^d wm: "girr

Pl^allc^^ui

(B) WTT^ -W^' A' ^IsRteRt ^

(C) -q;^ "STO ̂  cT^f^

(D) 71^ 7T7TO 7^T7S4, tt^'

"^arf ̂

108. PinRiRsia "5^ '-^ Tifq^

iiHdi Ji'Klch Prl^1 "i" ?

(A) ̂

(B)

(C) fFit

(D) ^

(5)S/33/2022/A 19

106. During 19th centuiy women were excluded

from the public sphere because :

(A) Industrial capitalism separated the

middle class home from the work

place.

(B) Those who entered paid

employment were sidelined by the

particular field.

(C) It was difficult to succeed in

'malestream' politics without

compromising their feminity.

(D) All of the above

107. The term 'Collective Consumption'

(Castells, 1977) refers to :

(A) Privatization of public services by

the conservation government

(B) The lifestyle practices of shopping

in the peer groups

(C) A form of tuberculosis

(D) The provisions of health, housing

and education services by the state

108. Which among the following wrote a

book 'What is Property' ?

(A) Karl Marx

(B) Max Weber

(C) Pierre Joseph Proudhon

(D) A.G. Frank

P.T.O.



109.

t ?

(A) H^i'=t<'J| 3T^?^R

(B) W?^FT

(C) mM\i

(D) W^

110. '% "^TR^ifcR)

^ rHHRrlRsld "^SH 1^

^ Wcir t ' : "m ̂  1ot 3TT?TrfeT

chc^tri

^ ̂ ̂  t I"

(A) ̂

(B) ̂ .■^. iT^

(C)

(D)

111. rdHRrlRsId ^ ^ 3Tf^

t ?

(A)

(B)

(C) I^Wt 3Tf#PT

(D) 37i%H

(5IS/33/2022/A

109. Washington based 'World Watch'

institute is associated with :

(A) Environmental Research

(B) Health Solutions

(C) News Agencies

(D) Fashion Brands

110. Whose position can be summarised in

the following quotation on the cultural

division of labour : "Not only in the

division of labour by sex not universal,

but there is no reason why should it be."

(A) Merry K. Benett

(B) G.P. Murdoch

(C) Ann Oakley

(D) John Bowlby

111.. Which one of the following is not an

environmental movement ?

(A) Bishnoi Movement

(B) Bardoli Movement

(C) Chipko Movement

(D) Appiko Movement

20



112. 1972 ^

^ W

2^T % ^ "q;^ W

■qr ^ "qcTt# i srs^m ^ -qfwT

■qi^ otefM ^ "^Mi ^icii "t :

(A) ^ ̂  ̂

(B) ^ ̂  ̂

(C) ^SR^nsqr ^ "^TtTTT

(D) M^k<u|- ^

113. "1^ 3H=Hl^d.

TjTj^ -qt^ 1q ■ftwPTM"

iiH^t) c^^aqi chl'i ?

(A) IP

(B) 3Tf^

(C) ^RhI^h ttt^

(D) "g^ ■

114. ^ "qn ^^rrgyf "dk ¥i^
^ciqig "qr "q^iM ^ ̂Riq,

HdQic4 kidii ctikd •st^siT'+^Hi^'S" sirq

^c^r4d ^ t ak feRT "qR^
■  -^ ^qtWT ^ f, =h^dldl t :

(A) "qqi^

(B) "qiRR^^rfe "q^i^

(C) "qrRf^s^fcTqr cfq

(D) .31^ ^

(5)S/33/2022/A

112. Club of Rome ran a computer simulation

in 1972 to predict consequences for a

planet with finite resources. The fmdings

of the study is popularly known as :

(A) Limits of Growth

(B) Limits of Energy

(C) Limits of Population

(D) Limits of Environment

113. Who is the author of the book "The

Unquiet Woods ; Ecological Changes and

Peasant Resistance in the Himalayas ?"

(A) Ramchandra Guha

(B) Anil Bhatt

(C) Hari Mohan Mathur

(D) Radha Kamal Mukherjee

114. To measure the effect of human activities

on the climate in terpis of the total of

greenhouse gases,^ means, how much

carbon dioxide you create and how much

you contribute to climate change is called:

(A) Carbon footprint

(B) Ecological footprint

(C) Ecosystem

(D) Acid rain

21 P.T.O.



115. ^ t ?

(A) tjle^Pdch ^

"WR SRTr'fen ^

(B) 3M^ ^ :^T^* ̂

■HHSl ^ "RT^ "sn^

(C) ^ cTfer OT "hM*,

■^* tRTfcRufN 3Tfe-

^ t

(D)

116. f^-Hd ^iFT % ^'chdnj|dl^ ^3^2^
"^csa t", ^i^'-isqi ^^^TfRdhr

^ qcal ^ ?"

(A) (B) aR^

(C) RT^8RT (D)

117. Pi^^RiRad ■^* hi^=6q1 ^■ipjiji ^

^fdlM. '^fedT RW' ^ 1%OT

"=T^ t ?

(A) ^PH^lHdl

(B) trNTTHl

(C) ^

(D) 3T^eTm

(5)S/33/2022/A 22

115. What is environmental racism ?

(A) The study of interaction of all

living organisms and the natural
environment

(B) Global common resources shared by
all members of the international

community

(C) The pattern by which environmental

hazards are greatest in proximity to
poor people, especially minorities

(D) All of the above

116. Who observed that "Resources increases

in arithmetic progression while population
increases in geometric progression" ?

(A) Pareto (B) Aristotle

(C) Malthus (D) Mosca

117. Which of the following is not a part of

the impoverishment risk model'

suggested by Michael Cemea ?

(A) Landlessness

(B) Joblessness

(C) Homelessness

(D) Loneliness



118. fq-Jieil •scHK'i

^ t ?

(A)

(B) chl-^mi

(C) %

(D)

119. 71^ W7PT W

Hl-^fdch ^ ^IfNd

"TO ?

(A) 1980-1990

(B) 2010-2020

(C) 2000-2010

(D) 1990-2000

120. ^hF^-s "uwrfro ■?]%

'^* 1984 '^* R-tllcl 5^kT

^ "mt M, "^TF "Rsm t :

(A) 31^H4HK T?

(B)

(C) nHcrll'jil

(D)

(5)S/33/2022/A 23

118. Which one of the following is a

prime source of Electricity generation in

India ?

(A) Geothermal

(B) Coal

(C) Gas

(D) Hydro

119. Which decade is declared by the UN

General Assembly as the International

Decade for Natural Disaster ?

(A) 1980-1990

(B) 2010-2020

(C) 2000-2010

(D) 1990-2000

120. Due to gas leakage in Union Carbide

pesticide chemical plant, thousands of

people were killed in 1984, it is situated

at;

(A) Ahmedabad

(B) Bhopal

(C) Siliguri

(D) Trichur

P.T.O.



121. "Slfe 371#^ ̂  -gRI

'Jl'l^teHl "^PTPTT ̂  1^ "iSnT

^ 37lf8f^, iroto 3ftT <NHTd^

^  ̂ t ?

(A) 1%R, TF3R^,

"^tR

(B) t^, TFRTH,

(C) ̂  3T^, 37^,

(D) -H^ "3^, ̂  TT^, -ipRrn,

feR

122. "f^RT RiSlH ^ ^ RcT^ ̂

#T T^* ^ Rcl^,

"Rci^, ?

(A) 37f^ .

(B) ^cicrl|ct) k.Rl'H

(C)

(D)

123. *i^ ■^' "5?^ 1^
"nf t ?

(A) 1^RTJ^ ^ ^37T

(B) ^ 3771^

(C) ^

(D) ?lf%T ^

(5)S/33/2022/A 24

121. The economic, social and political

backwardness of which four states has

been held responsible for India's

population problem by famous

demographer Ashish Bose ?

(A) Bihar, Madhya Pradesh, Rajasthan,

Uttar Pradesh

(B) Bihar, Gujrat, Meghalaya, Uttar

Pradesh

(C) Uttar Pradesh, Rajasthan, Assam,-

Sikkim

(D) Madhya Pradesh, Uttar Pradesh,

Gujrat, Bihar

122. Which scholar has divided sex

differences into three levels-primary
differences, secondary differences,
tertiary differences ?

(A) Anirudh Deshpande

(B) Havlock Ellis

(C) Carole Paterman

(D) Bradley

123. Which scholar has written the book 'The

Second Sex' ?

(A) Simone de Beauvoir

(B) Beena Agarwal

(C) Neera Desai

(D) Sharmila Rege



124. ̂

"Hcqi^ t l"

(A) cnleii "5^

(B) ■%

(C) TTlt^

(D) ^I'ctKSt-H

125. ^ 3tM^,

2005' ^ ̂  f37I ?

(A) 26 37^^, 2006

(B) 26 37^, 2005

(C) 20 2006

(D) 20 31^^, 2005

126. 1^, TOqf

MRciJi fR. "^fel ■^* ^
t" ?

(A) T3^. (B) WR?

(C) 37R. (D) tt. ^

127.

fqlifcr "q^? t" i

(A)

(B) TT^' -fe

(C) 13^*

(D) 3Tfwf

(5)S/33/2022/A 25

124. Who stated that *Gender difference is a

cultural product* ?

(A) Leela Dubey

(B) Neera Desai

(C) Medha Patekar

(D) Mala Shankerdas

125. When was 'The Protection of Women

from Domestic Violence Act, 2005'

implemented ?

(A) 26 October, 2006

(B) 26 October, 2005

(C) 20 October, 2006

(D) 20 October, 2005

126. Who stated that "Change cannot take
place in the structure without change in
the function" ?

(A) H. Spencer (B) T. Parsons

(C) R. Brown (D) A. Levy

127. Who stated that, 'Family is a biological-
social unit composed of husband, wife
and children' ?

(A) K. Davis

(B) Elliott and Merrill

(C) Maclver and Page

(D) Ogburn

P.T.O.



128. RHldRdd 3FTRf C^') "^f ^

31RTTT 'ellsiQi ^-cichfc^i 1^*
"tJfHrdd ̂  t ?

(A) STTfafe (B) XnsFftfe

(C) Hfl!^ (D)

129. fcqf ^ *-q^ -5^^ ̂  ^

"Mm t' ■qfbrrfe t ?
(A) (B)

(C) (D) ^H-HH

130. fTd 1^ "tefd "^rRTcT t, ""^mR
"qf^ ^ #Tf ^

^ "q^ ^ e<iich< 37q^ o^c^n^Tcr
^ 3Tf^ <s((siai "f" I

(A) fqtjd-1 Ric^id

(E) Hqii4 t^ngqn

(C) "wm -frofcr

(D) witfw pHc^ld

131. 'Vsictell ^ HBPT ciM
^  ̂ irrsqTT f ^ %TT
"I ^<21'll, qj^ 37k
"tefdtetq "qifliT l" "4 fqi^qi 1q^
f ?

(A) #R TTH.

(B) "qi^ ^^^qjfqr

(C) qq^ qiqT

(D) ^ -qi^^

128. Which one of the following dimensions
(fields) is not included in the dimensions
of the Global Gender Gap Index ?

(A) Economic (B) Political

(C) Literary (D) Educational

129. Who defined jealousy as 'a kind of fear
related to a desire to preserve a
possession ?'

(A) Rousseau (B) Socrates

(C) Descartes (D) Jonson

130. To which theory is this opinion related,
'Society enhances its orderly operation
by disengaging people from positions of
responsibility as they reach old age' ?

(A) Disengagement theory

(B) Function theory

(C) Society tlieory

(D) Utility theory

131. "Paradigms are general ways of seeing
the world which suggest what can be
seen, done and theorized about in

science." Who opined this ?

(A) Thomas S. Kuhn

(B) Charles Metcalfe

(C) Carl Popper

(D) Robert Malthus

(5)S/33/2022/A 26
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132. ^

qiyKi[qct,0t3^ ^C^ir4d ^ 13^
t 1 IrrszTT %g: f a^
^  t % ̂  t 3^ ̂
^* "^ ?' •

(A) X-^

(B) #T

(C) qiief ■qi'TT
(D) sflTTO T^.

133. q^iPiqi 3ig?^ "4^ -SlTtTlfel
^ f I ^ 7T^ t ?

(B) ^'e+iluldl
(C)

(D) ^'ifcJd

134. ^ 1991 ^ VX it
^T# fqitiiq '"f^lft^RT, "Rlf^tjfH T^
Wf^ I ^ ̂Hlf^pffH t :
(A)

(B) ^ mqt
(C) <2iMi

(D) Tm dchdlchl

135. o2T^^
(t^) ^2?T 'trN'' ("i^ ■^) x:

3TT^frft^ f ^ZTT dcbdlchl ^ ■
"fejRT t, ch^dldT f :
(A) "W ^
(B) ^
(C) ^

(D) T{{^ ^

(5)S/33/2022/A 27

132. Who observed—'Science can never prove
the facts of the world. Its task is to
falsify and show what is not or can not
be' ?

(A) Anthony Giddens

(B) Amartya Sen

(C) Karl Popper

(D) Thomas S. Kuhn

133. Four key norms organise scientific work.
Which of the following is false 7
(A) Universalism

(B) Parochialism

(C) Disinterestedness

(D) Organised scepticism

134. In 1991 Donna Haraway published a
most provocative book 'Simians,
Cyborgs and Women.' Here Cyborgs are :
(A) Hybrid plant
(B) Hybrid creatures
(C) Hybrid food

(D) Hybrid technology

135. A stratification system based on the
information 'haves'- and 'haves not'
linked to rise in new information

•  technologies, is called as ;
(A) "■ New class

(B) Reflex class

(C) Information class

(D) Cyber class

P-T-fe



136. ^ ^ ̂

* ? V
(A) fetor (B) fê W?q^

(C) "5^ rT^j^to" (D)

137. tor hi=h1c<k1 tor %

■■ ^ ^ fo; ^
31^ felRTOsff ̂  "to

^ <rji4 ctol "?*, r^i-A vi^elA ^"ciiRcti iivj^

■  (3TTffet#f^ to 3W^) ' ̂  ?

(A)

(B) TTFfe to

(C) ■uf^ fto

(D) ^ 3rr^

138. 3Tr^Picji ■HHi^ '"^rferfto'
■ v^ '^toro' ^ 4f -qftto ^ t ?

(A) ^

(B) ?^8r

(C) ^ toto

(D)

139. ""to "S^TRTT TT^* fefel
to toR toitftot tot

t cTsji ton! ^ fent
^  feto ^Ht f I" ^
wnr t:

(A) atot^
(B) "feint
(C) artot HRR

(D) -ychKlcM^ 1FIF5T

136. Which one is not a part of information
age?

(A) Digital (B) Analytical

(C) Hi-tech (D) Computing

137. Which Marxist philosopher saw a
number of institutions as being
independent of the State but functioning
to reproduce the dominant ideologies
through what he called the ideological
State apparatuses ?

(A) Herbert Spencer

(B) Margaret Mead

(C) C. Wright Mills

(D) Louis Althusser

138. Which among'these is concerned with
the changes in the 'public' and 'private'
spheres of modem societies ?

(A) Louis Althusser

(B) Ruth Benedict

(C) Jurgen Habermas

(D) All of the above

139. "Society dependent on communication
and information technology for
administration and control process,
resulting in the close monitoring of
everyday life," is called as :

(A) Observation Society

(B) Surveillance Society

(C) Ignorance Society

(D) Affirmative Society

(5)S/33/2022/A 28



140. ^

^  Wi ̂  "4^ t ̂S!^T %Tf^

^ * cii^lqch "^H^FfT ^

^

t/ 4i^dld1 t :

(A) %te "^TSlT^fRI^

(B) %fe ̂q^l^TT^

(C) '^^iilddi"

(D)

t

141. T?^ ^ t ?

(A) ̂IPT RT ^TcR

(B) "Q^ WIT "^TT W^R

(C) "Q^ "gRT ̂

^  ̂ ^ T3^

yuiiell

(D)

142. "fer^ 3^3^^ ̂  ^Pd^idl

"qft^FT ^ %i3; "sr^ ^Rdt

t?

(A) ̂  RT^

(B) aqro

(C) "ter ̂

(D) ild^iTd "TORT
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140. The assumption that the 'real world'

exists independently of our senses and

that the objects of scientific thought are

'real structures' irreducible to the events

they generate is called :

(A) Scientific Realism

(B) Scientific Pragmatism

(C) Scientific Asceticism

(D) Scientific Axism

141. What is a religious belief ?

(A) A statement of knowledge or truth

(B) A notion or idea

(C) A system of understanding reality

shared by members of a group

(D) All of the above"

Ct I

142. According to whose Research 'Protestant'
•  a

ethics provides motivation for hard

work ?

(A) Karl Marx

(B) Auguste Comte

(C) Max Weber

(D) Talcott Parsons
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143. 4j

■f%^* ^ ^TRqraTf ^ "5^^
t % ■^' sfM* ^ 3?I^

^  a^t ?

(A)

(B)

(C) HHIMId

(D) IpTO

144. ^TRcf ^ 37^^ ^T%aR
#T f^iicjf^^iei-iJl WHT ^ ̂  7i4 ?
(A) 1850 ^ (B) 1857
(C) ISaO (D) 1888 ^••

145. -^HiPich ^*J|cH tttt

t :

(1) WRRpf "m

(2) ^Ufrfe

(3) ^

(4) ^3TH^ ^

(5) ^

TTNcbldlH

f?

(A) (1) cfSTT (2)

(B) ^ (2) nsTT (3)

(C) (1), (2) tTSTT (5)

(D) (1), (2) (3) (5)
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143. Who has mentioned in his book 'The
Beauti^l Tree' about misconceptions of
scholars that the condition of education
was poor before the British came to
India ?

(A) Dharampal
(B) Naipaul

(C) Naagpal
(D) Khushwant Singh

144. When were the first three Universities
established under the British rule in
India ?

(A) In 1850 (B) In 1857
(C) In 1880 (D) In 1888

145. The following are some religious
organizations :

(1) Religious organization of
Shankarachar>:a

(2) Religious organization of Ramanuj
(3) Religious organization of Chaitanya
(4) Religious organization of Dayanand

Saraswati

(5) Religious organization of
Vallabhacharya

Which of the following are medieval
period religious organisations ?
(A) Only (1).and (2)
(B) Only (2) and (3)
(C) Only (1), (2) and (5)
(D) Only (I), (2), (3) and (5)



146. sm)-

M'tl-iPdiV -TO m ^
t % "^TPRTfe" ci|cl|cj<u|
WTTte" ^ 3TI?iTf^^fen

T^PTTcTO yf^^i TK "3^
■SMcll ?

(A) -qRTO (B)
(C) ^ (D)

147. "4' iKlqiP^qT ^
f^RcTT "f^ *'^^' ^ ^^TT

IWte" f^RM ^ "fWo; '"fe* ^
?

(A) T7F# ^ (B) RFT
(C) (itot cie< (D)

148. ^ I ̂  ̂  II ̂  H2T ^ftf^
^8IT ^ 1^ tTTT ^ ̂  ^ :5^

chlPjUJ. :

"^n
(a) ^ ̂  3if^(l) TT^ 17^ %]!
(b) sirf -^mR (2) Wto "IR

SiicOeii

(c) nr^RTt?! ?3TR (3) RFft 31^

(d) w w^r (4) Rml wk

37f^R^

W '•

(a) (b) (c) (d)
(A) 3 4 I 2

(B) 4 3 2 1

(C) 2 1 3 4

(D) 1 4 2 3
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146. Who has emphasised in his book
^Society, Culture and Personality' that the
social environment has a significant
impact on the social processes related to
art, the independence of art and the
creative process ?
(A) Parsons (B) Sorokin
(C) Spencer (D) Toynbee

147. In which wave of feminism did the
feminist stait using the word 'sex' for
biological difference and 'gender' for
social difference ?

(A) First wave (B) Second wave
(C) Third wave (D) Fourth wave

148. Match List I with List II and select the
correct answer using the Codes given
below the lists :

List I List II

(a) Hare Krishna (I) Maharishi
Movement Mahesh Yogi

(b) Arya Samaj (2) Ram Mohan
Movement Roy

(c) Transcendental (3) Swami
Movement Prabhupad

(d) Brahmo Samaj (4) Swami
Movement Dayanand

Saraswati
Codes :

(a) (b) (c) (d)
(A) 3 4 I 2

(B) 4 3 2 I
(C) 2 1 3 4

(D) 1 4 2 3

p.T.b.



149. ^ ^ '.Hl^rdcb

^ f ?

(A) iJklM ̂

(B) ̂ iPcitchK ^

(C) ^l-^Pdch ̂  ̂ ̂

^ -^RIR

(D) 37TfWRf ■% ■%

%-achdVil ^ W^tei

150. ^ H^-c]n' ^

t,?
o

(A) %# ^ ̂  ̂  TT^

■sfk M6Qj^

(B) "sflt <n'iidK o<<A(rt^ fqq<u|

(C) Ti^ PdR^d

(D) yfrr "SRI t^^IRa "R^ 4fc(cti "f^^WrTT

149. What is 'cultural lag' according to

Ogburn ?

(A) The growth of technology

(B) The process of invention

(C) The spread of an idea from one

cultural group to another

(D) The delay in non-technical aspects

of culture adjusting to new

inventions

150. According to Hall, what is 'cultural

identity ?'

(A) An essential and unchanging aspect

of an individual being

(B) A continually shifting description of

us

(C) A fixed and universal concept

across all cultures

(D) A biological characteristic

determined by gene
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